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2. The bacteria used for scavenging oil
spills by digesting hydrocarbons of
crude oil

(1) Rhizobium metiloti

(2) Bacillus thuingiensis

(3) Pseudomonas putida

(4) Escherichia Coti
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There are 100 questions in all. For each
question four alternative answers are given

marked as (1), (2), (3), (4). From these, tind
the most appropriate answer. The number

denoting this answer is there in the answer
sheet against the question number concerned.

Darken the circle with Blue/BIack Ball pen

only. Record th€ answers thus ln the OMR
answer sheet only. Do not write anything in

the question booklet except your Roll Number
on the cover page and rough work in the
space provided for the purpose.

1. ldentify the wrongly matched pairs.

a. Monocyte - Actively
phagocytic

b. Thrombocyte - Produces

antibodies

c. Lymphocyte - lnitiates blood
clotting

d. Eosinophil - Associated with

allergy
(1) (a)and(b)

(2) (b) and (c)

(3) (a) and (d)

(4) (c)and (d)

SAT

rsrE6,6 100 a-oJccJ6rBd gsrni. eccoo on:ce.1oruim3o

(1), (2), (3), (4) o6rm' cDs@cgodstoroR@ mcel

clJJoJa]' porooo oJl<oo oa,cs3orolgeire". oocuollrd

ordlorcoro<oc o(BgoJSo GD(DSC qDoAJOCO.'0(oC GrO(o,,

gorooo aoa3oJlSlaolar. pc 0(d10)(05-)(61U) a4cJlao3rm

m(ru6 gorooaosercmjlrd r&o(oc(6i ooJcoloruilomofloo

gan". pr mmJd rsros66rJle., o{c6rDo <rrls ooogoilrd
..}I oo{lo3g eruc(a oatro g.,J0o.,c(/r4r

ao36facr3a. gorooerrl (D6racoo OMR gmo
rtaoccolcl oo(oo corltodlalololc. c-ocr:;eunc6

cosarJ'lo G[[d6rl6r0 acud oo:Clnff nllcuogos oocri
mmJolo, ooo' o:6acllm3 ocusn{ onnflggg m.neroro"

co<uflm3gg agclln4ari a{loa oo6o,rm3o o61v3<oqro:.

l. oro6col oJeo8carred oJlooeruro
s3dola,.

a. aoca6moosxrud - oncccnoernru8l

aocoll 1o:ordnrull
aoJrme

b. cloroocanmonu6" - rwocf,lcen:xuJla.ri

grdgcr5lflao3rm3
c. e,looooc5xxrug" - roaon ag oJtslacrorfi

auoOcoflao3rm3

d. pcmnocn*rdkd - nne6dlor3ocoll
6ntmtr5kggldl

aormS
(1) (a) or3o (b) cor3o

(2) (b) o3o (c) o3o
(3) (a) ot3o (d) cot3o

(a) (c)o3o (d)o3o

2. (a3coDcarlelloo ooooclor.rc acdem
Grneoog Bddlg o6oorn" o€)otrR

aoJ c6+g roll seuB ri cu;nno1 corcaocit
goJo@ccdldoJcrn 5atcqildla)
(1) oaoooacalloo aoelloacgll
(21 ancodlgoa" agcltrfiqoA ofi mi
(3) oagaaocaacancoa" atglNkw

@) o€lnsLctlosJ cecaag

P.T.O.
M-1
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3. Pickout the feature of dicot plant.

(1) Leaves are isobilateral

(2) Mesophyll is undifferentiated

(3) Roots show secondary growth

(4) Vascular bundles are closed

4. Which is NOT TRUE about Meiosis ?

(1) Meiosis reduces the number of

chromosomes to half

(2) Meiosis occurs during

gametogenesis

(3) Meiosis I results in two daughter

cells

(4) Meiosis I is similar to Mitosis

5. The plant that shows hydrophily

(1\ Vallisneria (2) Maize

(3) Pea (4\ Rafflesia

6. Which one ol the following is NOT

associatedwih the processof hearirg ?

(1) Tympanum
(2) Semicircular canals
(3) Cochlea
(4) Auditory canal

7. The skeletal joint that enables
movement in only one direction is

(1) Hinge joint

(2) Ball and socket ioint

(3) Gliding ioint

(4) Pivot joint

-2-

SAT

3. oleoJla olor aunu;rurollorfl emremo
oflooeoros3ao3a.
(1) pela,c6 mlonlo-rcOolorocsnf
(2) o-.r6oo<uloao oocuoJlcu;

cudaodlafl$g
(3) nloico oJg6g acenllaet3cm

acuo3ac0
(4) nuoonomcucorJlac a@olo5uBca

ruossrurocucorcarl

4. grcnooorcuJocoll eacnuog$ ordl
co)flccrD lolaprucn o6pl ?

(1) o(ocoacruco $Doo{ool gcmeooro
or agoflcorcoll a{ogBrm3.

(2) enllcercc0groruJ'l mno<urocem"
gr(nBo(/)o msdotffn(6)i.

(3) g'cmreooo I aSlcor3orntcd oern"

o4@ acoactoeonc6 gsrrecagrm3.

(4) (ao€o(/)6Yorlni ruocmocem' pccn
reocDo I

5. geloJ occo6lDo acsnSlacr3nn mrmt;o

(1) dfl)mlooxrl@ (2) oe.r€o
(3) olcol6 (4) cxtg?otS

6. rocov rocnflr6lael3rmcuolltd aa,c6oJl

or3ocoll erumldl5gconncrooi ?

(1) a6smorso
(2) on6<lo4onncacroacr3vege,c6
(3) aac4flor
(4) o0smcncAo

7. a(q cu(ocorodoJgg -oJe,mo oc(oo

cDcoJocdr'rtcrn Glocrudlmcurl

(1) ongcsrdl mxnrjl

(2) oocgomxruIl

(3) oorrnA cieon3cm mmdl

(a) osla mlnuJl
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8. The part of the nucleus that plays a
nujor role inthe syntrcslsof dbosomes

(1) Chromatin reticulum

(2) Nuclear pore

(3) Nucleoplasm

(4) Nucleolus

10. ldentify the statements related to dark
reaction of photosynthesis.

a. Takes place in the stroma,

b. Formation of ATF
c. Formation of glucose.

d. Evolution of orygen .

(1) (a)and(b)

(2) (b)and(c)

(3) (a) and (c)

(4) (b)and (d)

11. Which option indicates the parts of
gynoecium ?

(1) Pollen grain, filament, ovary, tube
nucleus

(2) Polar nuclei, stigma, ovule, style

(3) Style, stamen, stigma, generative
nucleus

(4) Ovary, anther, filament, polarnuclei

M-1 P.T.O.

SAT

8. oooc6nJcomcoJaSos crJl0mcsm
orulld oo3 (oJcuccn o-.rei cuorllao3rm
cn;6ilcomJlocf, recor
(1) olacoqfflcO aceIla
(2) mg6flcotc6 mr3odloo

(3) mg6ilacorca3cnuo

(4) m.g6ilaconanu-

9. onocarni ooo@o o6ol ?

(1) Go(6)"el8"mo4€i"

(2) ocor"

(3) cosronocrl crfl

(4) on toJlouerucur

10. (oJac@cruoareos6rnororloel poJore

"ergo4occoll GnJml.ods tcJq)ccrJm
acO aosneruro3a.

a. ctngcorolkd ms6ot(m3

b. ATP g6nec6dnne

c. reSodocm'g6rBc63rm3
d. ec6fleec6 mJo(crooca3nn3

(1) (a) o3o (b) or3o

(2) (b) cor3o (c) cor3o

(3) (a)co3o (c) o3o
(a) (b) cot3o (d) cot3o

11. anflo4so'ruflocfl cawteaachffu3rJld
acr3rm eco-l"oUc0 o6oi ?

('l) o:ocooosm3, (ofiDl6o,
GrooTrrJc(oQ)or sJsu" mg$omi

(2) 6I3ot o6m6onri, oroxoern cruoao,
eccuJlc6, acrJlcffnx"

(3) gd B6nu', c&(ruoo, oJoccD6rD
(ruoeto, glm6ofrlojo6oo

(4) Go6nucsoaro, oJocufl, (ocru)J6ro,

1m3cu o6aoeunc6

9. Which is a fungal disease ?

(l) Athlete's foot

(2) Filariasis

(3) Measles

(4) Rabies
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12. Which is NOT TRUE about lactic acid
fermentation ?

(1) Glycolysis is the initial phase

(2) Glncose is broken doiln incornpletely

(3) Only two ATP molecules are
generated

(4) Carbon dioxide is liberated

13. Match the items in Column - | with

Column - ll and select the correct

option from those given below.

Column-l Column-ll
a. Mutualism i. Lion and Rabbitl
b. Commensalism ii. Loranthus on

Mango tree
c. Parasitism iii. Flower and

Butterflya
d. Predation iv. VandaonFicus

tree.
(1) a-iv b-iii c-i d-ii
(21 a-iii b-iv c-ii d-i
(3)a-ii b-i c-iv d-iii
(4)a-iii b-iv c-i d-ii

14. The hormone that promotes lactation

and stimulates the uterus to contract

(1) Calcitonin (2) Thyroxine

(3) Oxytocin (4) Vasopressin

15. Abo<neasurcs 10fi1x 11.2crn x 10 crn.

Assume that this box is filled with neon

gas at 1 atm pressure and 273 K

temperature. How many electrons will

be there in the box ?

(1) 6.022 x1ff3 (2) 3.01 1 x10'?3

(3) 6.022 x1tr2 (413.011 x 1022

SAT

'12. ac4{lai cDmrlrui ooooooccf,nvcn3
ocoll erumlog$ cor6logcoroorooi ?

(1 ) to-rLoo oeJ3o oomodoc$mflnuceni
(2) ggaaocml oJl"ersmo o46s69

oca3cntlg
(3) oene" ATP nrcoclroari oclroo

erdlao3cm3
(4) e,c06nl6r0oocueca'oomlo.tJlocn

o{oooBBrma

13. cacgo l go €arcgo ll go aolo3ocudl
cat6ruro' rocos rornf l6laer3rmcu oll nfl

cnlrm3o <roo'lcorcco oco-t'og(6
ofloooururs3ae'13o.

a&cgo-l cacgo-ll
a. mx,rruaorufkoF i. mlloorngo qongo

b. mlrrroacCikop ii. omllrd orgqnn
PotdcA

C. o.roClcumo iii. qpqp -oJ6o ooreo4o

d. o.r<ocroecmo iv. rsro(doo(ffitld
cugoSffn ooauca

(1) a-iv b-iii c-i d-ii
(2) a-iii b-iv c-ii d-i
(3) a-ii b-i c-iv d-iii
(4) a-iii b-iv c-i d-ii

14. agagcno -\ rtoorocmJo cnargccocqro
nucoooJlgf aoccnao moocarldoJrm
CoOCOCOC6fO
(1) 6$dmrlosc6ntl6
(2) oorococ6lc0
(3) oc6iloscmllcO
(4) cucccruclormllc6

15. soJ cenLc6locfl oogcr:3ac6
10 cm x 11.2'cm x 10 cm. rsrosnL

latm oO€orurld 273 K gcogrrfld
crflaocerB oJco)6o pc cenLc6td
crfl og! r6lacr3aocoemrm- 6oJ@J6r.
pr aeuc61a6 oot(u) peJotecoml
agcoll r6lacr3o genacoll dlacr3a ?

(1) 6.022 x1G3 (2) 3.011 x1G3

(S) 6.022 xltr'?(4) 3.01 1 x1022
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16. The key step for the manufacture of
sulphuric acid by contact process is
given below.

2SOr,r, + Or,n, 
==: 2SOno, + heat

Which of the following are favourable

for the contact process ?

A. Pressure of 2 atm and temperature

of about 450'C.

B. Removal ofSQandQ
C. Use of V2Os as catalyst .

D. Removal ofSO, ,

Choose the correct alternative.

(1) (A) and (B)

(2) (A), (B) and (C)

(3) (B), (C) and (D)

(4) (A), (C) and (D)

17. Which of the following sets contain
molecules with double or triple bonds ?

A. H2, Br2, H2O, NH3

B. F,,Q,CO,, Ct
c. co2, N2' H2' NH3

D. NH3, Cl2' CH4' CCl4

(1) (A) and (C)

(2) (B)and (c)

(3) (A) and (D)

(a) (B) and (D)

18. The number of electrons present in
d-subshell of copper atom

(1) 3 (2) s

(3) 10 (4) I
M-1 -5-

SAT

16. nucaoogrdlaclcmnodocfl crflomcem
orol m3o-t corccnlao3cm mtm.l 6acr
lorpiorcol3os ffD3(oJcucm oel3oc6rD"

rocovoaclcs3rurulldlao3rmro:.

2SOr,n, + O.s)+ 2SOqs) + o)coJo

oacs3rurufl rdleo3rmo.rcollcfl mtmlOao
t"J(djl@g GDCDA6JeT oca)cu ooo(6)c
oaocorcsrn'?

A) 2 atm o69o4o 450"C gcogco.r3o

B) Sq,Oro€)cnflor crflaoo
oeJggcrnoi

C) VrOs gcflclotoaoccoll go_Lccolccrfl

ao3rmoi

D) SQcrflaoo oe.tggcmoi
nxdlcoroaoci 6rloo5rurose66)t6.

(1) (A) and (B)

(2) (A), (B) and (C)

(3) (B), (C)and (D)

(4) (A), (C) and(D)

17. rocoe odocs3ruroflrdlao3rm <oornduB

$ cfl ogolloercoeoorcsm' r:leu m.u

cncoc 1oflerum-umcoc ggg orcoc(ro
ac6 gggol ?

A. H2, Br2, H2O, NH3

B. F" Q,CO2' Ct'

c. cor, N2, H2' NH3

D. NH3' Cl2, CH1' CCL

(1) (A)and (c) (2) (B)and (C)

(3) (A) and (D) (4) (B)and (D)

18. aacg6 roo6rndocfl d-cruenr"oovsl
e1399 pela(€c6rD8agos ooqmo

(1) 3 (2) s
(3) 10 (4) I

P.T.O.
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19. Match the following :

a. Eye wash i. CarbqticairfJ

b. Food preservation ii. Tartaric aci4
c. Baking powder iii. Citric acid
d. Flavouring drinks iv. Boric acidr

v. Oxalic acid

Select the correct alternative.

(1) a-iv b-iii c-ii d-i
(2) a-iii b-ii c-v d-iv
(3) a-iv b-iii c-ii d-v
(4) a-v b-iii c-ii d-i

n. Which of the tollowing is the IUPAC
name of the compound ?

cFl c}l3

cq- lx-{x-o-{, -cFr."l
q,Ft

(1) 3-Ethyl -2,3-dimethyl pentane

(2) 3-Ethyl -2,3-dimethyl hexane

(3) 3-Ethyl -3,4-dimethyl p€ntane

(4) 3-Ethyl -3,4-dimethyl hexane

21. Liquid ammonia bottles are cooled

belore opening the seal. Which of the

following laws is applied here ?

(1) Boyle's law

(2) Charle's law

(3) Avogadro's law

(4) Graham's law

M-1 -6-

SAT

19. co.to3oo:5loo.l6ao3a.
a. a.qg"av3agnnollrn" i. acacenrcarnai

oomkut
b. rurq,rn<oo oas3qgscexo ii. sc6scr$a;rwrn*ui

aujadLoo3nnoflni
c. Grotrldocxoo iii. m,ltdloioOmrrul"
d. oxrlloxuog3os oSoJl

<u6arfu[oo3rmoltrn" iv. csnnc$aioomftu"
v. eoairuoeltroi

@mrht-f
co<dlocoxo' o5loosrfl DSAdoJoi.
(1) a-iv b-iii c-ii d-i
(2) a-iii b-ii c-v d-iv
(3) a-iv b-iii c-ii d-v
(4)a-v b-iii c-ii d-i

20. <ocoeodoc sJrurol olao3rmcu coll rd
ogroceni mosrlarDolurloco IUPAC
OCOo ?

cl_t

cn. - Jn
cF[

[r-.r, -.r.

"h(1) 3-pcooLod-2,3-
ooouo'loo rord o"r ocf, cort0

(2) 3-peoouord-2,3-
oertuo'l ooLo rd oooalomrcor"r6

(3) 3-pcooLonfl-3,4-
oocr.u o'looncfl oo-t o@o.ft6

(4) 3-prcooLod-3,4-
oocuo'l oo to ro? onoa,"omo?6

21. tBcore Grococ6n o)c, eJ OS

mldogoacgnrxo5lcti (6rDOlOCo)

roern3gfacr3rm3. rocov ooocs3orufkdl
ao3cmcucollcfl o{3roi rnlcoloocem"
pcrll os 6-r ccorcull4fldlaei3cmoi ?

(1) aerucolld crflcoroo

(2) -o.rcc6oti nflcoloo
(3) Gocuolcc(ruc crflcono

(4) t@ooco crflono
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22. The components of the alloy used for

making permanent magnets

(1) Fe, Cr, Niand C

(2) Fe, Co, Niand Al

(3) Fe, Ni, Cu and C

(4) Fe, Cu, Cr and C

29. Wtrbh of the following are true ?

rA. lonisation energy increases from

left to right across a Period

-B. Atomic size decreases on going

down a grouP

C. Metallic character decreases from

left to right across a Period

' D. Electronegativity increases on

going down a group

Choose the correct altemative.

(1) (A) and (B) (2) (A) and (D)

(3) (B)and (D) (a) (A) and (C)

24. Type of isomerism exhibited by the

comPound C.H.

(1) Chain isomerism onlY

(2) Chain isomerism and Position

isomerism

(3) Position isomerism onlY

(4) Functional isomerism onlY

M-1 -7- P.T.O.

SAT

22. mtdloaccroo nll6odlacr3otcc0 gol
corcdl ao3rm oelcoomlo,orurul'lo et

oetSe5uBgc6m'

(1) Fe, Cr, Niand C

(21 Fe, Co, Ni and Al

(3) Fe, Ni, Cu and C

(4) Fe,Cu,CrandC

2g. roco godocsJruro'lo1 ao3rmcr.t oll 16

cry6lonoru ogororcoaoonsm' ?

A. eo3 oJkdlntJkd psroro3 crflrm3o cuet

cruroao' ooccorcenllaoem gcdeeo

arls3cma

B. aq P3gfld rocqedc,Jcuolo orup<lo

<woo6odlo, ol ell do 6dool3me

C. oo3 oJlolollrd gsoroe cnlrm3o

crl etoorolacl' aelcorJlor ffDJBccr.L o

6{oo)lcm3

D. eq to:3$d roooedo3 crlotoooooJo

gefi (qc orno$oflfll e,JSJrmJ

uordlorccoroi ofloo6ruYosJdoJar.

(1) (A) and (B) (2) (A) ancl (D)

(3) (B) and (D) (4) (A) and (c)

24. CoHao$)nn moo)ld{olo loladlgfi
doJno oog)omcoocJlm:o

(1) o-orcflcfu oo6orrucooctlmo oc(roo

(2) o-ooIlc6 oo6)omcooc,lmo.llo
ooJcmjloc(6 oog;cmcoocflmn4o

(3) on-rcmflou c0 oog;crrucoocJlmro

oct(u)o

(4) no6B-o$ smrd oo6;omlcoocflmro

Oc((oo
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25. Which of the following methods is

used for the concentration of the ore
galena ?

(1) Froth ftoatation
(2) Magnetic separation
(3) Leaching

(4) Gravity separation method

26. The number o, moles of O, required
for the complete combustion of 1 1 .6 g
of butane

(1) 6.smote (2) i1.6motq
(3)'t3motO, (4) l.gmotq

27. The gasproducedwhen manganese
dioxide is treated with hydrochloric
acid

(1) Ct, e) o,
(3) H, (4) 40

28. Which of the foilowing does NOT
describe a ray that can be drawn for
a concave mirror ?

(1) An incident ray through the centre
of curvature, rellecting right back
through the centre of curvature

(2) An incident ray through the centre
of curvature, reflecting through the
focal point

(3) An incident ray through the focal
point, reflecting parallel to the
principal axis

(4) An incident ray parallel to the
principal axis, reflecting through the
focal point

M-1

SAT

25. rocogodocsJorol o1 ao3rmcu coll n0
o,6ro" rdlo5lconem- oeJlm o6cm ronoll
o1 orfl auc 1cr:1 oosm<o.rofl mj.u ooccrll
ao3nnoi ?

(1) c(oocoro" qpccarucO
(2) accrore ccuOofl tdloeln0
(3) ell4floca"
(4) e3olJo3roJ ccu6oflr6laerr6 rdlofl

26. 11.6 lcnco erugogcor"r.a oJlaepoccolto
4pllaer3nrroflmco:cnlocor odfu eexfl
cocSegos ooqno
(1) 6.5aoc6 O, (2) 11.6cocc6e
(3) 13 ooccO O, (4) 1.3 coccO O,

27. oco@mlffu' oucorcdoomrrur,
ooooa(a!ccsccJlai rsrOmjloofoccpll
1o_.t cu 6nrolao3omt cca gerecLsrm
cuc(u)60

(1) Ct,

(3) H, o
o2

H

2

4

(

(
2

)

)

28 @coego@Jcrncu coll d aacer0cacu"
edgsrnrurofloerco-cuoggcm rocr$corcroll

oi crorJlardlaocmccu nrooi n6o1 ?

( 1 ) G6g6rnor6fl ocfl cularocaalcnorofl

Eos ascrnJ coJcognn o_.rrocn oqfl
1cu<ufln_r ollgi oJ (6@c calcaorull
e{os roocm ofkdloa coJcarJcm3.

(2) cdg6rDrflurocfl culoorc ca,6nnroll
egos aoJcaJcm oJ(d)m oql (oJ6rl
o=iona;" erocecrnlrddgserJcq3r.nu

(3) co.ocaomin0 a3dl coJce3nn
o_:gtm oujl loloilo:ofl4[qa.r;roroau
roroJlni mtocotloo ccoll ccr-:ca,3rm3.

(a) orJo{oroasroroilm3 mroccroooccoll
GoJceJnn olromoqp 1o:oflotoflgf
aoo cao mJl a0 a3dl col ca4rm3.

t

-8-
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29. The potential difference between the
points P and Q lor the given nem,olk is

6()

2.5()2A

P

(1) 8V

(3) 1v

(2) 35 V

(4) 7v

30. Which of the following statem€nts
about mass is false ?

( 1 ) Mass remains constant at any place

on the Earth

(2) Sl Unit of mass is kg

(3) Mass of an objectcan be measured

using spring balance

(4) Mass is a fundamental quantitY

31. The Sl Unit ot specific heat capacity

ol a substance is

(1) Jkg{K-' (2) Calkgrr

(3) Jkgil (4) CalkgKi

32. ln a transformer the number of turns

ol primary coil and secondary coil are

5 and 4 respectively. lf 240 V is
applied to the primary coil, the ratio

of currEnt in primary coil and

secondary coil ls

(1) s:4

(3) a :5

ffi qvr
M-1

("$ _t
)rvft ' \p" 1; 2. rr

2o-

SAT

N. rocosronrfl olae'r3rm ocn6"cudao1cfl

P,Q o6ycm1 enJlcn3aocdaeilscorl e.t3qB

er,:cacforqca cu;<o;cmr o6y6urconerd ?

6C)

2

(1) 8v
(3) 1V

(1) 5:4
(3) 4: 5

.\
L

(2) 35 V

(4) 7V

(2) 5: 10

(4) 8:12

v'lQw

2.5c)

P.T.O.

P

9-

o

30. occn lom codlm)occnocaefl rocos
rocn5l6lacl3cm 6..rgffumadldt oc€o
ool o6ol ?

(1 ) ra3dlolld o6155collsronn3o ocmi
cnrdloocolldlact3o

(2) ocmllocQ Sl cot3en5l6" kg G@a{rmJ.

(3) oo3 cuqp3oflocfl occni tcrpJo<ri
erucoc6mi gr,.l ccoc(/Slgf ruogaclco

(4) occru" eq oodlrnrocm GogcrJc6m'

31. ons0e roco..ttucdkoo3os Sl

o3snfl6cem'

(1) JkgiK{ (2) Calkgrl

(3) Jkgj (4) CalkgKj

32. eo3 lscc'0mc"cnococfl os oolo:oo1
cacollellooo3o omdo(fld cacarl
elloercor3o .o{a6Eos 0€)6tr(l0 a)l.oc

laoo 5 99 4 go rsrgfin". oo(oJocrl
caccqrlerld 2N v cnr a,locd
oolcrror5l oa,ro5lelloao3o omaclrQcll
cacollellooo3o aorfrlorfr onm3

oJC(U)o

|'*", ?"+ "

o

(2) 5: 10

(4) 8:12

>^\ -L-! 3- 3

Blx = 
qq

ro lP



Class-X

33. ldentify the circuit in which the diode
is fonrvard biased.

D

(1)

H
B

(2)

H

D B

(3)

B

(4)

H

34. A particle of mass 100 g is thrown
vertically upwards at an initial speed
of 5 m/s. The work done by the force
of gravity during the time the particle
goes up is

(1) 1 .25 J (2) 0.5 J
(3) - 0.s J (4) - 1.25 J

B

D

D

M-1

rbobr6-"t5 ",r
s€e

o.\ k6,rsm/5

SAT

33. octqrcrul' coocaccucro' sruomjkd

"e6lgfl4flrdloo3rrn ocruOaefl$aoera
(urDJe.

H
B

(2)

H

D B

(3)

B

(4)

H
U. 1009 occru3gg ao3 cuap3 Sm/s

(oJCoo€ ocuoronnlrd oja$cerao"
o6o1or3rm3. cugr3 o3apilcerao"
coJcasnn cruo@lo eJCDJoJ(u)pe&,s6rD

6Djero O-oJg 1o_to4orofl oot(oa)c6rD- ?

(1) 1 .2s J (2) 0.s J
(3) - 0.s J (4) - 1.25 J

BD

D

D

-10-

I

I

(1)



Class - X

35. On a stationary sail boat air is bloivn
from a fan attached to the boat. The
boat will
(1) Not move
(2) Spin around
(3) Move in the direction in which air is

blown
(4) Move in the direction opposite to

that in which air is blown

36. Sound signals were sent down from

a ship return after 2s. Find out the

depth of the sea, if the speed of sound
in water is 1.5 krn/s ?

(1) 3km (2) 150m

(3) 300 m (4) 1.5 km

37. An ice cube is suspended in vacuum

in a gravity free hall. As the ice melts it

(1) Will retain its cubical shape

(2) Will change its shape to spherical

(3) Wllfall down onthe floorof the hall

(4) Willfly up

38. When a glass rod rubbed with silk is

brought near the cap of an
electroscope, then

(1) The leal has an induced negative

charge

(2) No charge is induced on the leaves

(3) Positive charge is induced on one
leaf and negative charge on the
other leaf

(4) The leaf has an induced positive

charge

t500--
Z

M-1

tt\ 368n.-rq
teco ..{9 B

SAT

35. nfl<role,ccucuoqarle{gg ao3 o-.tctoi

cuaollcoJlrd oorolcfl roocrn gogp
dtggg eo3 ooccn'lcfl crflrm" ac$
oodlaer3nn3. cueioll
(1) crSlor3cnflg
(2) o4fllaooe3cm3
(3) a.r6dlag rJloocollafl crflcon3cm3

(4) acgdl4oflocf, o6o116 r4ocolla6
o5lcun3rm3

36. oo3 agelkd nflcrn" roccsao" Goer
ggrm croergmllcricnegacO 2sm3 aoonto
ofl rdloa, ooonDlmS. asellorf, rarovo

66rDdOCdO36.
(eelorofld <roergoroflocf, cororo
1.5 krn/s)
(1) 3km (2) 1s0m
(3) 300 m (4) 1.5 km

37. ra3ca3o3ropo6osi6Tno p6dc(drD 8oJ
ooc$nfl oo3m;rocoflc6 61ro3 oo6ffD'
o;eru" oa$ p$r6lacr3cm3. onOCrD"

go3a4orucd ruooi
(1 ) agenJlaod ooaryuSl ntlac5l6otol3o

(2) eocgcalollollcetacr" oco3o

(3) ooc$ocQ roocolloetao" oJlv3o

(a) gcot6rm3 ooJcado

38. mJkdae,'oocene" gomllo 6oJ rcccru"
Goccu' 6oJ ger c lqccru-cacfl m3

m:o'lol oro3 cu ggccruccO

(1) egeun$c0 c(oJoorDo o3elo3gg
omcofrloj -ar cdd laolordlao3rm3

(2) egeun$d eioJ rooo -olc64o
c(oJosmo o-algogdlg

(3) co.rcmflfrloi -orc6d eo3 ngruruflego

oc6 r:groruflrd ocncn$oi olc64o
G[oJ o6fDo o_a]goHsJcmt

(4) egongild ctoro6mo o3aoJgg
colcmfl 61oi oJcdef 1oo1ao'1
dolcrr* 

p.T.o.

t.5 k,
s

a-1 1-

^+^.
l''tt
UI r5(p



Class-X

39. Which one of the following graphs
shown below represents uniform
speed ?

time -+

)3(

(2)

(4)

e
E6

linr --;

time +

I

eI6
trE -+

40. An iron ball and a wooden ball of
same radius are released from a
height h ln vacuum. The tim€ taken
by both of them to reach the ground
ar€

(1) Roughly equal

(2) Exactly equal

(3) Not equal

(4) Equal only at the Equator

M-1 .12-

oo

SAT

39. ronerv ornftdacgcrmJsrftd rrumurno
rru3r.llglao3crn pcoo- o6oi ?

t
(1) 

$

fiUO(Q)o --)

(TDO(Q)o J

I

(3) g
d

cruoQ)o -t

m)oQro -+
40. 6ao crooqgg soJ poJruJ o6rucEo

Bq rodl asrucgo c/o3mJoofkd h goro
rnufkdil nflrm" ollv3cm3. ocmto oo
olloeromcc0 €)st6oyrn ffuoolo
(1) oga:caoo (olEJoc6m"

(2) 6,Je6oc6rn"

(3) ro3e'Jofl

(4) a3o<u;oooolkdt oclroo cUEJoc5m"

t
o
S

2)g
f:,

1
o
Q

d
e,
)

4)

1
@
9
c,!
E

(1)

I

E
ftl
6
E



Class-X

4'1. What is the smallest number which

leaves the same remainder 1 on

division by 18, 24, 30, 42 ?

(1) 251e (2) 2s2O

(3) 2s21 (4) 2s2.

43. The difterence of the squares of two

consecutive natural numbers is 101.

l/vhat is the sum of the numbers ?

(1) 102 (2) 101

(3) 100 (4) ee

44. The sum of two numbers is 40 and

their diflerence is 10. What is their

prodwt ?

(1) 325 (2) 350

(3) 375 (4) 400

zl5. The Shterm ol an arithrnetic ssquenoe

is 5 and the sum of the first 5 terms is

55. What is its lirst term ?

(1) 15 (2) 16

-(3) 17 (4) 18

!t-r"t-"

5

M-1

Ss' 55

P.T.O.-13-

SAT

4'1. 18,24, 30, 42 ElJcu aacosllE}flco

oordlgcrd oco u6lrgo 1 ororm u6l.go

a1SJ..n o66cuJo oo.tcllcor mtoeu;

oocnDc6rD" ?

(1) 2s19 (2) 2520

(sl 2521 (412522

42. 256 ocfl o€)flc oeJsasuBgos@eo

ro3a ogcrocarl ?

(1) s1l (21512

(3) 1023 (4\ 1024

43. ruros3rorols3ool oem" oOSrdrruooL;

ogos cuOoeongos cr{roJcfiuo 101

(gro5m'. plc mooJJealos (oJ6

o6lcrurcan" ?

(1) 102 (2) 101

(3) 1oo (4) ee

44. o6rIElJ moogasos (oJe 4 9o,

cuJoJcmo 10 9o rergem". @oaJJ

6gos CoS5mcDooao o6Pocsni ?

(1) 325 (2) 3s0

(3) 37s (4) 400

,15. 6oa m)occrDos6genflol3os 5-co o-loo

5 9o, GIocJoGrO 5 oJrsdB8os (ole

55 99 rooemi. c,ggorfl@eos GtoeJoorit)

crJrao o@CnnOari ?

(1) 15 (2) 16

(3) 17 (4) 18

,'" -G-rJ,
A,o + ("",*)

42. What is the sum of all factors of 256 ?

(1) 511 (2) 512

(3) 1023 (4) 1024



Class-X

46. Thesumof thelirst 1 1 termsandthe

sum of the first 17 terms of an

adthmetic sequence are eqral. \rvhat

is the sum of the first 28 terms ?

(1) 28 (2) 1

(3) -1 (4) 0

47. There are two taps to fill a tank. lf both

are opened, the tank fills in t hour. lf

the smaller tap alone is opened, it

takes 3 hours to fill the tank. How

many hours will it take to fill the tank,

if the larger tap alone is opened ?

(1) 2

(2) 1Y2

(3) 1ys

(4) 1Y4

,l8. What is the number you get on

simplifying the sum

111 11
g*3,*3p *"'+ - +2;aro ?

(1) 1

2(2) i
1(3) z

1(4) 5

\L

W

M-1

*nt

-14-

L,L

(1) 28

(3) -1

(2) 1

(4) 0

47. eo3 sceJlafl ocuggo crflogcc6 oenq
aJeet6g6rl3". o6'rlllJ a{eetSego
ror3ocm3 cu:gccfr , 1 oenflaei36 oe,cern'

scai nlloor3o. oolcJlcor agvrd oclroo
olJorme cu4ccfl, scei cnlocqrcm

o3rm3 oern1ao36 ocuemo. cuellcq)

a3vcfl oclroo roaoffnJ cu+gcrd, scei
nJloorcco oo(c) o6n 6oJd ocuenro ?
(1) 2
(2) 1y,

(3) 1ys

(4) '.t%

111 1148. 5*3-* 5r 
*...*S,o--*2;"io n6y-

c)eor arorDaocaO'lcocrd alsJrm
mroS o6ynncsrn'?

(1) 1

@3

(.) ;

(4) ;

1-L',\
3= I-+l

SAT

46. 6(q moccriDoq@snflol3os oOxa;ooril
1 1 oJc66Bgos @Jar@3o, GrOeJoOrO
'l 7 .LJ666Bgos (6)16(0130 ro3a;ocem:.
croBJooro 28 oJ€6trBSoS (oJ6
ocorcrocem' ?



Class-X

49. What do we get on simplifying the

x x+1 1

expression x+f 
+ , -*1**11 Z

(1\ 2

(3) 2x

etl

@l*

50 The figure shows a right triangle and

a square inside it.

6,
2t

IL
vvlnt is tre lerEfi of a sirle of the square ?

(1) J5 e) J'
(3) 2 (4) 1

5l. The sum of two numbers and the

difference of their squares are both 10.

V\ihat b tne hrger of these t'^'o nurnbers ?

(1) 4

(21 41/2

(3) 5

(4) sYz

I

i

I

i
6

fi

l+

l$

M-1 -15- P.T.O.

49
xx+1 I-;+;-r1r+r1 a"etjadl

agcd allSrmoi o6yruncn- ?

'l
(1\ 2 (21 

2

@:*(3) 2x

50. oJllroorofl rd oo3 ogtoflcac6mo.Jlo
q,oonm3gg[lcfl 6(0l rDo-oJoJocuJo

cuo4[dlacr3cm3.

mroo:rojorurofloco oo3 olcooollocfl

dlgo o6troalcfiD" ?

(1) J5 et J2
(3) 2 (4) 1

5'1. o6rEJ auoo5agos ot3eollo'

GoclJaS6E oftrruBgcE o{oJcmrt Eo

10 orormocsmY. porolloa cuellor

nuosu; o6;norOent" ?

(1) 4

(2) 41h

(3) 5

(4) 5Y2

SAT



Class-X

52. Two dice rnarked with numberc 1 to 6

are rolled together. What is the

probability of getting an odd numbers

on one of these and a multiple of three

on the other ?

(1) *

(2) ;

I
\z

3
'o Z

(3) #
,^l9 )t4' - . <y jP

' '' ls\o 
" 

uYI " o 9r\
1.6l'

A square is drawn with vertices on a

circle. The area of the square is 4

sguare centimeters. What is the area

of the circle (in sq.cm.) ?

(1) n

(2) Jzn

(3) 2n

E'
La

53.

4-

M-1

Q) an

,L L
o

'1+

52. t ogroc0 6 cuoo mloo.r.pogqoflo

oae3 o:ailsaca ecntlaf go3grmt.

onrllcfi agm)oo{@Ao, oo6ccntld

o3crrllocf, o3snflrocujo cuoccnJgg

mc(,t)J(u) o6ynnc6nt'?

(1) ;

(2) ;

-16-

(3) #
13(4) 
s6

53. ao3 cuprorwufloel rncet enJlra3aoc0

oocClgfl+f ool @o-er61oo cuo

oloqnrB. 6nyr ^ rogonrufloq ._roggoj

4 -oJoJo@oor6lo16ocern". oilroro

orolo€ ologgof oo((o -ar(oaor@

onucfildl6orrn" t

(1) n

(2) JZn

@) an

*,
\z\

*l
.v

ffi)v

SAT

(3) 2n



CIass-X

54. ln the figure, the bisector of an angle

of the large triangle cuts the opposite

side into two pieces.

6cm 2aan

What is the length of the third side of
the triangle in centimeters ?

(1) 3

12) 3.5

(3) 4

(4) 4.5

55. ln the figure, each side of the largest

triangle is 1 meter. By loining the

midpoints ol the sides of each

triangle, an lnner triangle is drawn.

>"D;; )

What is the area of the smallest trhnglE
(in sq,m.) ?

,,, f(+l -, f[;l
., +(;i ",+(;l

M-1 -17-

L z@

SAT

54. oJltroruroflnfl cuellor loflca,cernruruJloet

oo3 oacenllocfl mroracCl o6ofl6 cr.tco

erroro o6IEJ ec@eongcaefl qc5lacr3rm3.

o
I

I om. dl. 2 exru. d

lollcacemrorullorfl ogcmcoo<uro o.tco

rolollerf, ongo o611to ornrfrldl6ocsrn' ?

(1) 3
(2) 3.s
(3) 4
(4) 4.5

55. -aJllrorunnloa og6cuSo cuello

1ro1 c acemrorolorfl cuoeunoggco

1 ol6ocsm'. eccoc lolloacsnorurl
oQoao cucn5uBgos oulenJlcnsaoci

cocClgf4cern" onollm3ggtoa

@cacemo cuogfldlao3rmoi.

oo8oJeo oo:rllo lofloacemrorflocfl
cr.roggoJ o611or a.rro3qggdl6ocari ?

,,, +[ill
_,f(;l

-, f(;l
_,+(;l

o. 25 7q
P.T.O.



Class-X

56. ln the figure, three vertirres of a regular

octagon are ioined to form a triangle.

What is the angle at the top vertex of
the triangle ?

(1) 2t "

(21 25"

(3) 27Y2"

(4) 30"

57. ln the figure, O is the center of the
circle and A is a point on it.

What is the length of AB in centimeter ?

(1) 1

(2) G
1

(3) E

Q'+
M-1 -18-

SAT

56. -oJlloxorufld eo3 auoooogqerwoflerfl
o3rm3 o3aa,c6 ocorcClfl4[ ao]
1ofl oa,cerno cu o4[dlacl3rm3.

lofloacmrorolloo cgac0 a3oolloa
oacero oo((o orfl(cdlorc6rD' ?

(1) 22Y2"

(2) 25"
(31 2n.
(4) 30.

57. oJllrorurulkd O o4roroaalcncu3o, A
o5rwororufloo enJlrn3o4ocsm:.

nA o6os cfgo o6'r6ur emrfld6cncri Z

(1) 1

(2) .F

1

(3) E

@+



Class-X
58. ln the figure below, what is the length

of the smallest side of the iliangle ?

8cm

(2) J6
(4) 2J3

59. What are the coordinates of the point

Q in the figure below ?

P(Ze)

o

(1) (3,2)
(2) (-4,1)

(1) 6

(3) 2J6

tsl (- e.,tr,2.tr)

(4) (- 3, 2)

60. The figure below shows a semicircle

drawn on a part of the x-a,\is as diarneter.
Y

(o,4)

x' x(-

Y'
What are the coordinates olthe other

end of the diameter ?

(1) (1,0) (2) (2,0)

(3) (.tr,o) (4) (1%,0)

M-1 -19,

(3)

P.T.O.

SAT

58. oJllroruroloo lnflcacsmrurolocQ
o0Bcrl3o o-arc,lo cr:corurullocf, crtlgo

oot(u) offDc6ldl8oc6rn'?

0 6xru. d.

(1) 6

(3) 2J6

59. -oJl1rooro1cff Q €tan enJlcn3oJlocQ

cru3o.ramroSari o6ptmenl ?

? eE,

(o.4)

x' x(- a, o)

o

(1) (3,2)
(2) (-4,1)

(s) (-s,8,2.8)
(4) (-3,2)

60. oJltronmfld x-rsoaiuorurloQ ooe
Bccoo cuJcmocoll reroOocutrruroo

cuogfldacgnrg. ,

o

Y'
cu;ccruroroflo@ oo6 oio6<urollocfl

ffDJdarcruoo{eri o6laorc6nr" ?

(1) (1,0) (2) (2,0)

(..tr,o) (4) (1%,0)

(2) G
(41 2J3



Class-X

61. Rearrange the following in
chronological order.

a. Second Continental Congress

b. Treaty of Paris

c. Boston Tea Party

d. End of the war between Britain and
the American Colonies

(1) c,d,a,b (2) a,d,b,c
(3) c, a, d, b (4) a, c, d, b

62. The eighteenth century was called
(1) The Age of Conflict
(2) The Age of Reason
(3) The Age of tdeas
(4) The Age of Nationalism

63. Name the Chancellor of Austria
during the Vienna Congress,
(1) Napoleon

(2) William ll
(3) Tallyrand

(4) Metternich

Al. Whichwas known as.TheWartoEnd
All Wars'?

(1) Second World War

(2) French Revolution

(3) FirstWortd War

(4) American Civil War

65. Which among the following is wrongly
related ?

(1) Kurichya Revolt - Tribal Revolt

(2) lndigo Revolt - p€asant Bevolt
(3) Sanfi al Rebelllon - pEasantRebelllon

(4) Vellore Mutiny - Sepoy Mutiny

M-1 -20-

SAT

61 . o4cuos rmnllgggguoe) acerrrtDff)c

laooruflacao3a.
a. oSrBco cucaao cDoGDgmo

b. rucrdlmipscrudl
c. aerucgy0 dl orc6$
d. ruocodlaor6cacgcflago6nngmp

rooA5lera6la a)3aDorurlerfl roncumnmo

(1) c,d,a,b (2) a,d,b,c
(3) c, a, d, b (4) a, c, d, b

62. oroflom3co cn36cend o6;euBocnaoc5ni
oocflconggoi ?

(1) rDorEJ Aos 6uB$os qDe@o

(2) o3aoflot3os a,Jcoo

(3) rorgcooorgos qDJ@o

(4) oraudlorroo3os olJcno

63. oJlormcrucmgcn6cel6to)- c,g(cr$a)
or8as -oJcc6mej6 rorgocollo3rm3 ?

(1) omcgc$oca
(2) oJl6go ll
(3) scelloccfr

(4) ooc66er,lao"

U. "o61gc or3ra.ocungo nflarorOcmcoll

6q c0r3er)o" oocrncfloogScrooi ?

(1) oernco ceJcaolJcuo

(2) 6osro:I oll6cuo
(3) ermco cetceolJeDo

(4) oocodlaor6 roga;crooo3aro

65. dloJos ronrr3tggorlrd cocCl
aocrorocroof ?
(t) qfu{ &ercoJo - orDo(ro 6epo.Jo
(2) crflao aacoJo - aansaaetcoto
(3) rrucrocc6 aEcoJo - a,6rrca

6eJCoJo
(4) oot6g6 Eoog - udlarcoll aoog

I



Class-X

66. Match List - I with Ust - ll and select
the conect response from the options
given.

Lbt-l Llst-ll
i. Buland Danraza-a. Shahjahan
ii. Moti Masjid in ,-b. Aurangazeb

Lahore
' iii. Jama Masjid c. Akbar

iv. Badshahi Mosque d. Jahangir

(1) i-c ii-d iii-a iv-b
(21 i-c li-a iii-d iv-b
(3) i-a ii-d iii-c iv-b
(4) i-a ii-b iii-d iv-c

67. Name the founder of the Mrashaiva
rno/enpnt,
(1) Vallabhacharya
(2) Ramananda
(3) Ramanuia
(4) Basavanna

68. The high ranking official in charge of
controlling markets during the reign

of Alauddin Khalji

(1) Wazir

(2) Shahna

(3) WakiFi-Dar

(4) Wali

69. Nicolo Conti, who visited lndia during

the rule of Vijayanagar Empire was a

native of

(1) Russia

(2) Portugal

(3) Africa

(4) ltaly

M-'l -21-

SAT

66. o:$a - l, ol$a- ll o6ynllol cr.ttdl

c<nouJlg[vo<6lorccofl (eoods3rorDe6.

.r.t$a-l lrJ$6-ll
i. eq3occor"eocucnu a. omeorpc6

ii. ercc.,rpcrloer b. amo<ocrruen-I

cocorojl orrul{ki

iii. eacocntCkj c. Groahla

iv. onrcrt,so.,rflcoc<nlai d. e.,oo.tdl6

(1) i-c ii-d iii-a iv-b
(2) i-c ii-a iii-d iv-b
(3) i-a ii-d iii-c lv-b
(4) i-a ii-b iii-d iv-c

67. oJloooqocu 1o:cruocrnrorullocQ mocn-t
aerf, comovSot3a.

('l) cugrecolco;rfi
(2) ococarrnr6
(3) ococm3ar6
(4) erumn:qg

68. ooerccu3gl16 otrdClorgos raoan
6cer6rD' ao(rucg nflogoernrorullocf,
grunoocuxJlto-p3erncollo3nn go6nn
gco;ccocnro16
(1) cumllO

(2) ogoo"m

(3) cuaelldt p-ec6
(a) cucefl

69. oJlgor moo eoemacaruril" pcto;
mcn6udlag ntlcaocogc oacerd o6oi
oom;aocrorncollo3rme ?

(1) oosJ
(2) e,rc6goxtB
(3) reotndlacr

(4) peen

P.T.O.

a



Class-X

70. Consider the following statements
and identify the correct response from

the options given.

Statement - I :Swami Vivekananda

contributed to the rise of lndian
nationalism.

Statement - ll : Swami Vivekananda

attended the Parliament of Religions

held at Chicago in 1893.

(1) Statement I is true and Statement ll

is false

(2) Statement I is false and Statement tl

is true

(3) Both Statements are true and
Statement ll is the correct
explanation of Statement I

(4) Both statements are true but
Statement ll is not the correct
explanation of Statement I

71. Who started the 'Swadesh Vastra
Pracharini Sabha' as a part ot the
Swadeshi movement ?

(1) Bal Gangadhara Tilak

(2) Lala Lajpat Rai

(3) Bipin Chandra Pat

(4) Rabindranath Tagore

72. The head quarters of the
School of Drama'is at

(1) Bombay

(2) Kolkata

(3) l,lew Delhi

(4) Pune

'National

SAT

70. ^ rtolos ronrflsgg lolcrtrrccucnacO
o: o1 ccocr.rJlg[ GrocnJccorcBJoca)

1o-r oSla,roemo rocov rornllsggcu colln0

crflrm'aoernnro3a.

lo.rqocurn- I : mrpdloJlocuocrncnr6
pcnDJc6 cocrdlcoxocol3os rsrgoJl6€ccu
oruJlcri mroeccu cna,cO cndail.
(a{llooJm- !! : 1893-rd -ajlaocc(/)c
oJlnfl msrm cru0cuoor (ruaoDgcn

rorullcff crupdl crJlccuaccncar6 o.roo,
qyuruB.

(1) 6ralocum - lnordcol3o (oJffJpcucn- ll
o(o8toc6m-

(2) 6rrcgncum - loro63o (oJcrJpcum - ll
codlor3ocsm-

(3) o6nd (oJrJccucnag3o oolor3o
(orrlcoJcn - ll, 6rlqncum - I orf,
cadl colccol oJl car$aoemcu3ocsm".

(4) oene" toJqccucnego coo'lcq,c 6m".

o6frnlafl gn;ocum- ll,

{fucrJecrJm - locfl cadlconco.r

oJlcrorJlaoemog.

71. nu1aos6l lolcnroccnrunflorfl raco:occofl

'nulcr:oo' cutqg to-.loco16rrfl m)e',
rupoorJl4rocaf ?

(1 ) en:ceroroocruooJlaai

(2) acacae"o.toiocoll
(3) Gnjloica -ollcaolcrd
(4) oenJllcnmcn sccocd

72. mcc{u6m(d cg3c6 ecoo" (aDcoqD3os

(qomtocmo crudlofl oo.tEgcm cnroao

(1) cerucooeru

(2) oacrdaorum

(3) m;cuaturrfl

(4) o-gom

M-1 -22-



73. The geographicalfactorwhich is NOT

lavourable for the growth of rubber

( 1 ) Temperature between 25'C and 35'C

(2) Clayey soil

(3) Rainlall above 150 cm

(4) Land lree from water logging

74. The pair of ocean currents and

oceans NOT correctly matched

Ocean currentg Oceans

(1 ) Kuroshio current - Atlantic ocean

(2) Oyashiocurrent - Pacific ocean

(3) Mozambique - lndian ocean

current

(4) Gulf stream - Atlantic ocean

75. The climatic region characterized by

winter rainfall

(1) Monsoon region

(2) Tropical deserts

(3) Medeterranean region

(4) Tundra region

76. The pressure belt that forms

exclusively due to the sinking of air is

(1) Equatorial low Pressure belt

(2) Sub tropical high Pressure beft

(3) Sub polar low Pressure belt

(4) Polar high pressure belt

M-1

SAT

73. oeqd alodlacr' cocneoarcaJ/tscoro
e3dlcoclcr;nesoo
(1) 25"C m3o 35"C mJo psa,ler8Bg

rooolcrJlet

(z) a$oe6fr
(3) 150 omr. o'1. colkd a4s3rootlaq

(D9 eJ6J@

(4) oo.rggo oa$ crfkdaercoro

EtoJoB(oo

74. moJ(caer 1n-rcucoocrBca, cruoJto

orco oonrfl onom mc0o,l1ollggg
ceeruSlaglnff oro6cod
(n)ol(o3s (aJorcooo m,qfBo

(1) agcocmllccuc (orcucooo - tuogien@ai
(rDd[tco

(2) econo{lcoc (oJcrJcooo - o-:mx,-dlai
ruq((3o

(3) ooccrucoa:Jloi 1o-tcucooo - pclu,Jc6
oooCmCB(6o

(a) cnc6oo" 1n$lo -run6 accoloi
mq((3o

75. oocnroJacg os mloJlccaogrootc

a)389 aCerccUCruOC OOOJeI

(1) oen0nu3erd (oJcosoo

(2) goderncooac oga3dla,cO

(3) ooor6aonfl ox6 1o-toooo

(4) ro8tmc (oJcocoo

-23-
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76. rsrocmo'la,scucol3 rocv"nrfl ocon3rm

ofl ocfl ooaocoll cruJcglaoogs3rm

ruroaordla,g odgaoon
(1) orllJaoon m;cno6gcoo.to

(2) gco:coSern gi.lo6€oooJa

(3) gol(otonco m;rnodr3cooa
(4) ttuJollo giJo6(3aoorel

P.T.O.



Class-X

77. The State in lndia with the lowest sex
ratio as per census 201 1

(1) Punjab

(2) Haryana

(3) Kerala

(4) Tamil Nadu

78. The rivertowhifi lndrayatits atifutary
(1) River Krishna

(2) Biver Godavari

(3) River Mahanadi

(4) River Kaveri

79. Two places 'A' and 'B' are found
marked 10 cm apart on a map. What
is the actual distance between these
two places on the ground if the scale
of the map is 1 : 50000 ?

(1) 5km (2) 20km

(3) 10km (a) 0.5km

80. Which one of the following is NOT a
depositional landform ?
(1) Stalagmites

(2) Mushroom rocks

(3) Moraines

(4) Beaches

81. Asteel plantestablishedin lndiawith
the collaboration of UK

(1) Bhilai steet plant

(2) Rourkela steel plant

(3) Bokaro steet ptant

(4) Durgapur steel plant

\o

M-1

ciQP
,g

600
o9I

,jri-u0
t :5oPoo 1o1 6.900Oo

SAT

77. 201 l ooDr6ous$ grracoo pco6olltd
o{BBCuSo ar8o5lilO 1rg[ n.t3o3ouc

meoJc(oo 999 momxlcmo

(1) oler9tcenl
(2) oodlorcm
(3) oarqgo
(4) rodlCmcd

79. 'A', 'B' oocrn'l oGrE" cruoeJ6[Bca

roaoler3gg ra3or soroloo Gro&elo
10 omr. o'1. orgem". re3o..lsrorufloa

arocof 1 : 5000O rsrorosmajln0 regaoc

o:olroaorofl rfl toJrp3ro cnroetcunc0

rodlerleg oJoo o€Xro ?

(1) sdil. 01. (2) 206i1. 01.

(3) 10 ail. o1. (4) 0.s d6l. dl.

80. rocog oJ oarpncu qarld crtlc6.soJ5rD

re3o3o-logcrunooi

(1) p,;cem:ooo63ac6
(2) a4entcdlemcO
(3) oocooocn3a,cO
(4) enllggacd

81. a)J. oe. co8os m)ooca)oorDcos
goolcolld mocoJlaeioggggg
potcruSoS6o}00cel

(1 ) dlacolpo3m4o3aer3cacer

(2) oJdoaoel po3ffuJoedol@cet

(3) o6ruc6occoc po8ruJoedo$/ooeJ

(4) qdrnco46 po8ruJo8dot(ocer

-24-

78. ptcBccuotl co-.rcog6rDr{la,oo, mdl
(1) alodsmcmrJl
(2) orncorudl cnrJl

(3) ooocrnr{l
(4) ocooJdl mrJl



Class-X

82. The one which occurs at divergent
plate margins

(1) Collision of plates

(2) Lateral movement

(3) Formation of fold mountains

(4) Sea floor spreading

83. Which one of the lollowing is NOT a
greenhouse gas ?

(1) Carbon dioxide

(2) Methane

(3) Nitrous oxide

(4) Argon

84. ldentify the wrong pair.

(1) Varanasi -Kanyakumari -NH 17

(2) Salem - Kanyakumari - NH 47

(3) Agra - Mumbai - NH 3

(+) Nasit< - Pune - NH 4

85. The new Economic Policies which

disregard government control are

known as
(1) Liberalisation
(2) Neo-liberalisation
(3) Privatisation

(4) Globalisation

86. The date on which the Reserve Bank

of lndia (RBl) introduced the new

t 2,000 notes in 20'16 is

(1) NovemberT

(2) November 8

(3) November 9

(4) NovembellO

M-'l -25-

SAT

82. oJlcorcsa mfloa$rd mroreoJlao3

nnoi
(1 ) oogaeungos qpilqga6
(2) ooaaeuagos cucoeon$ceracr3gg

oronrflococfl
(3) osdoe oJ6olro6dBgos

o3allooerno
(4) fiDo3teros o{coJmo

83. rocog cJo@enncuolkd oordko cr4.,r>

cucroaogcrunncrooi ?

(1) 6c66ruer0 oocur eca"oomrcui
(2) dloroc6
(3) eiomlsad ecairomxur"
(a) rso6osr6

84. oro6ccol cecoJl aoeneruro3a.

(1) <ucoennn0 - arn3cagmr6l - NH 17

(2) anuero - acn;ca4octdl - NH 47

(3) roOtco - otooocru - NH 3

(4) mccn ld; -o4ocn - NH 4

\t

85. ocuer6oorfr nflcolloosmcuoog crfloc

a,o1 ao3rm o-.r3ruro c0 mlccru oro'la
cDar6uBog rerocf lcorogs3nnoi ?

(1) gococurdaooemo
(2) mo: g€cocu(ddoosmo
(3) crulaco;curdaooemo

(4) rurgco:cgcurdaooemo

86. 2016 -rtfl cJlnu6oJ erucoiecoo" pcnDJ

o6oi oflcoroll o3@elc6m" 2,000
osoJortos ccncg 1.uceru etJurOlafl

oacene3o:rmof ?

(1) moro6ilA 7
(2) mcr:oeruO 8
(3) mcuoerud 9

(4) mcr.:oeruo 10

P.T.O.



Chss-X

87. The o<pansion gl'WTO'is

(1) Web Trade Organisation

(2) World Tourism Organisation

(3) Wodd Trade Organisation

(4) WebTourism Organisation

88. Which of the following is NOT made
lrom Petroleum ?

(1) Anificialf,bres
(2) Mica

(3) Vaseline

(4) Kerosine

89. Who isthe presentGovemorof RBI ?

(1) Dr. Urjit Patel

(2) Dr. Raghuram Rajan

(3) Dr. Subba Rao

(4) Dr. Ranga Rajan

90. Which one ol the lollowing is the
blggest agrebased industry in lndia ?

(1) Rubber

(2) Cotton Textiles

(3) Sugar

(4) Jute

91 . The biggast Cornrnercial Bank in lndia b

(1) Oriental Bankof Commerce (OBC)

(2) HDFC Bank

(3) State Bank of tndia (sBt)

(4) Federal Bank

M-1 -26-

88. ocoe oJocoJrnotcolkd oo-tc1sc$rd
crflcm3o ccuOofldlo4gs3aoceoro curp3
o63orcem" ?

(1) qJ(orlo cnco3acd
(2) onlreo
(3) cuccrueJlc6

(4) ooGIB6nB

89. c@A.6nil. oo€). coeos padcaooru)
olcu6ep6 cro,oc6m" ?

(1) oaDc. gcdCloio-tcgnfl
(2) ao.Dc. ooegoco ocer6
(3) ocurc. rDAGBoco{

(4) caDc. ooorocse(6

90. ocoe rr-Joor3rncuofkd poo;colloer

o66ouo cuello o,6o{l orouJlosUko

cuJcuffuc@o ogrocem- ?

(1) oGqA
(2) olqonflro3enfl
(3) o.:erotnuco

(4) olsmo

91. poo.1cofloa og16o4o cuellcor

cucsnlla; eacoi o63rocem" ?

(1) sccrlarocflcfl erucoi ecrro"
oocaoCad(e. 6nn. mt.)

(2) oO4U'. o.rfl. o6pn". mjl. snLcei
(3) cSlB enrcai eco.o" pooJ (o6ou".

d.on6t)
(4) enoolord erucai

SAT

87. 'WTO'or3os ot36e4go3oro ?

(1) ocuenl cprur" oc6cooomamkrs (fl

(2) ocucftrur" qcnou oc0rooerDccnrrgc0

(3) ocucOrur" c1scu" 6c6coo6rnomoc(6 .

(4) 6ru6nIsJcrm)o acAoroomqmos(6



Class - X

92. Which one of the following is NOT

accepted as a security against loans

by the Commercial Banks ?

(1) Approved salary certificate

(2) Gold

(3) Land Tide Document

(4) Debit Card

94. Which among the lollowing is formed

by indirect election ?

(1) Legislative Assemuy

(2) Raiya Sabha

(3) Lok Sabha

(4) None ol these

95. Number ol Lok Sabha Constituerrcies

in Kerala

(1) le (2) 8

M-1

(3) s4o (4) 20

-27-

(3) 540 (4) 20

SAT

92. rocoggo@JrncucoJlnfl cuccot"o-rg

gcscco/l cucenile; sruca3ac6

aulandlaocoro cunp3 ogrocenl ?

(1) ruoosr€r)ro cocrug nu6$odlao6

(2) cru$e6qo

(3) cucp3onocf, Grgorcoo

(a) ocuenJlll ac6cur"

93. (oJG,J6,u acnccdoJ@Jo crflaoJlet3

enecollo3rmoi o6oll oscolcsm" ?

(1) gou,J

(2) pogene"

(3) tsrffti

(4) ruroaoeru;

94. oJcoc6,s olofl oJlcfl ollooaoos3acr

ogs3cm eecnto-L otlcrllqjl fi Da

(1) crflconcrure

(2) oce;nue

(3) cena"nure

(4) gcuoo)crmeo6[

95. oaogrurolloa cetca,oDec odruer

5rBgos ooqmg ?

(1) 1e (2) I

93. Findout the country where Direct

Democracy existed.

(1) lndia

(2) England

(3) Greece

(4) Arabia



96. Wro among the following is eligible

for Voting Right in lndia ?

(1) Any person, 21 years of age

(2) Any lndian citizen who has

completed '18 years of age
(3) Any person with formal education,

who has completed 1 8 years ol age
(4) A person who has completed 18

years of age

97. To which of the following categories
does the District Collector belong ?

(1) All lndia Service
(2) Central Service
(3) State Service
(4) None ofthese

99. The minimum age limit for a person
contesting elections to the Rajya
Sabha

(1) 30 (2125
(3) 18 (4) 3s

100. Which among the lollowing is NOT a
function of the Election Commission ?
(1) To audit the Election Expenditure

(2) To prepare the Voters List

(3) To issue Election Symbols

(4) To choose the candidates

M-1 28-
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98. The First Election Commissioner ol
lndependent lndia

(1) T. N. Seshan

(2) V. S. Ramadevi

(3) H. V. Khuraizi

(4) SukumarSen

96. goo;ofkdt oorcgoraccooruflrn3gg.
(gro6(lr)(u) tsOaooconi ?

(1) 21 cuao(mcol o1gootooc(666rlo

(2) 18 cuorcg"o46orollonaeno pcnnlc6 -
oJCo(6

(3) 1 8 cuar(g" o{Aoil,lo,cd6tol
o€lo@coJ ooe;cruooJka;rn3o

(4) 1 8 cua,$" n t36onllonaello
o63orococc0aer3o

97. Clgcaee6 otcoegoo,Jcrnorltd
o6ro3 oJlaccnrurutkd ocuqrm3 ?

(1) GooloercrDJc mOollmi
(2) oa6nm6crllcrd
(3) nuomnccn rruGoJlml

(4) pqu ocrnJoH

98. m1ru,tcyo pc,nn;ofloa GrgoJooru)

otloosrunos3qg aadlncomd
(1) dl. o6c0. ocoo:u(6

(2) ojl. o6;nu'. oocoooll
(3) srO6. oJl. o3oooo6l
(a) ml3agocd orrucfl

99. ocgJmccouocmc6<odloncillorunxdl
ao3rm eocc0d6rJoclJ6rn o13gcu3o
d{o6rurD (ucololrdluJl
(1) 30 (2) 25
(3) 18 (4) 35

1 00. ollooerururs3gg adlolocQ -o.lloo,e,
olkd gc0ogscoroof ?

(1) oiroosruros3gs aenracr3acO
otdlcooocrllacl3a

(2) ooca6 o:$a rogcocaer3a
(3) -oJlornonca rvom3curJlacl3a

(4) cnto?pcACIdarog aJosrletutD3a
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